RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Selection of Negotiating Committee for Tribal Satellite Bingo Contract)

RES. NO. 395-89

1		
2	WHEREAS,	on October 17, 1988, the Indian Gaming Regulatory Act
3		(S.555) was enacted into law providing for (1) a
4		statutory basis for operations of gaming by Indian
		tribes, (2) a statutory basis for the regulation of
5		gaming by an Indian tribe, and (3) the establishment of
6		independent federal regulatory authority and standards
7		for gaming on Indian lands; and
8	WHEREAS.	the Tohono O'Odham Nation has for many years owned and
9		

operated a bingo hall on the San Xavier Reservation wherein the game of bingo is played both electronically and manually including other games similar to bingo; and WHEREAS, the Tohono O'Odham Nation has been approached by Gamma International Ltd., with a proposal to conduct satellite bingo at the current bingo hall on the San Xavier Reservation; and

WHEREAS, it is necessary that this Council select a Negotiating

Committee to represent the Nation and negotiate the

terms and conditions of a Satellite Bingo Contract which

terms and conditions shall be subject to Council's

approval.

NOW, THEREFORE, BE IT RESOLVED that the Tohono O'Odham

Legislative Council does hereby select and appoint the
following people to be members of the Nation's

Negotiating Committee for the purpose of negotiating a

Satellite Bingo Contract with Gamma International Ltd.,
for the operation of gaming activities within the Tohono
O'Odham Nation which are allowable under the provisions
of the Indian Gaming Regulatory Act (S.555):

RES. NO. 395-89 (Selection of Negotiating Committee for Tribal Satellite Bingo Contract) Page Two (2) 1. Legislative Commerce Committee 2. Angelo Joaquin, Sr. - Tohono O'Odham Nation Chairman 3. Edward D. Manuel - Tohono O'Odham Legislative Council Chairman 4. Austin Nunez - San Xavier District Chairman BE IT FURTHER RESOLVED that the terms and conditions of this Satellite Bingo Contract shall not become effective or binding on the Nation until they have been approved by the Tohono O'Odham Nation. BE IT FURTHER RESOLVED that the Negotiating Committee is hereby authorized to consult with any appropriate advisors in negotiating this Satellite Bingo Contract. The foregoing Resolution was passed by the Tohono O'odham Council on the <u>7th.</u> day of <u>December</u>, <u>1989</u> at a meeting at which a quorum was present with a vote of 1,610.0 for; -0- against; 114.0 not voting; and 03 absent, pursuant to the powers vested in the Council by Section 1 (b & (f)) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL Edward D. Manuel, Legislative Chairman Voer. ATTEST: Teresa M. Choyguha, Legislative Secretary gth day of December, 1989. Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the _____ day of _____, 19____, at _____ o'clock, ____.M., Lecentor pursuant to the provisions of Section 5 of Article VII of the

Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of

1

2

3

4

5

6

7

8

9

10

11

12

13

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

submittal.

RES. NO. 395-89
(Selection of Negotiating Committee for Tribal Satellite Bingo Contract)
Page Three (3)

- 1	[중 경우 경우 경우 전략 전략 전략 전략 전략 전략 전략 전략 보고 있다. 그는 그는 그는 사람들이 되었다면서 되었다면 되었다. 그는 그 사람들은 그는 그는 그는 그는 그는 그는 그는 그는 그는
1	
2	TOHONO O'ODHAM LEGISLATIVE COUNCIL
3	90.00m. ()
4	Edward D. Manuel, Legislative Chairman
5	
6	[X] APPROVED) on the 10 day of Dec. , 19 99
7	[] DISAPPROVED) at 5:18 o'clock, P. M.
8	1.00
9	ANGELO J. JOAQULA, SR., Chairman
10	TOHONO O'ODHAM NATION
11	Returned to the Legislative Secretary on the day of
12	December, 1989, at 11:45 o'clock, A,M.
13	
14	Veresa M. Chonyuha
15	Teresa M. Choyguha/ Legislative Secretary
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30	
31	ing sking 이 이 이 경우 전략적으로 하는 것이다. 이 공화장 전략 시간 king in the Helificial in the

32

MOVED:_	Joseph Juan	SUBJECT: Selection of Negotiating Committee
SECOND:_	Percy Lopez	for Tribal Satellite Bingo Contract
DATE:	December 7, 1989	

RESOLUTION NO.395-89

DISTRICTS	REPRESENTATIVES	of votes	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK	1. Rosita Ruiz	81.5	X			
163.0	(Rosemary Lopez) 2. Kenneth G. Williams (Harriet Toro)	81.5	X			
HICKIWAN 125.0	1. Lloyd Francisco (Billy C. Manuel)	62.5	Х			
123.0	2. Henry Ramon (62.5	X			
GU VO 114.0	1. Cross Antone (Juan Joe Cipriano)	57.0			X	X
114.0	2. Virgil Lewis (Michael Flores)	57.0			X	
SAN LUCY 106.0	1. John Reno	53.0	X			
	Albert Manuel, Jr. (Max P. Jose)	53.0	X			
PISINEMO 119.0	1. Edward Manuel (Alex Antone)	59.5	Х			
119.0	2. Johnson Jose	59.5	X			
GU ACHI 166.0	1. Alex J. Ramon (Fernando Joaquin)	83.0	X			
100.0	2. Percy Lopez	83.0	X			
BABOQUIVARI 229.0	1. Joann Garcia (Frances Miquel)	114.5	X			
229.0	2. Earl A. Francisco (Kenneth Chico, Sr.)	114.5	X			
SAN XAVIER 127.0	1. Joanne C. Preston (Carmelita Mattias)	63.5	X			
127.00	2. Eugene Enis, Sr. (Michael Rios)	63.5	X			
SCHUK TOAK 107.0	1. Joseph Juan (Frances Francisco)	53.5	X			
107.00	2. JoAnn Francisco (David Valenzuela Sr.)	53.5	X		8	X
SELLS 310.0	 Joseph T. Joaquin (Larry Garcia) Andrew Patricio (Daniel Lopez) 	155.0	X			
510.0		155.0	Х	4		
SIF OIDAK 158.0	1. Willard Juan, Sr. (Melissa Gregorio)	79.0	X			
130.0	2. Mary Ann Antone (Nina Jose)	79.0	X	534		X
<u> </u>	TOTAL	1,724.0	1,610.0	-0-	114.0	03